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SECTION-A
(Multiple Choice Questions)
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- Question Nos. 1 to 20 carries 1 mark each. Attempt
all questions.
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(a) TUfcegss (b) HIeH !
(¢) 3Tchied (d) FEFEfds 3Tl

Propanol is the 3-Carbon compound with a

function group -
(a) Aldehyde (b) Ketone
4« Alcohol (d) Carboxylic acid.

), Fr § 9 1 9Fg § W WA a9 1 9 €7
(a) ITSNHE (b) Yshaeshl
(c) Tvied (d) femadl Afasl
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Which of the following is a part of male

reproductive system in Human beings ?

(a)  Ovary _(b) Vas deferens

() Uterus (d) Fallopian Tube.

HAEH forg el & dyemw & fau savas 22
(a) - T (b) Tt
(c) 3R (d) sgfem

Iodine is necessary for the synthesis of which
Hormone ?

(a) Adrenaline _(b) Thyroxin

(¢) Auxin (d) Insulin.

qatarer o % fau 9= R H H g R A
ad 2

(a) TR (b) : I

(¢) A ITAM (d) qA: =R

Among the five R’s to save environment, what

does the second ‘R’ stand for ?
(a) Refuse (b) Re-use
_~A¢) Reduce (d) Re-cycle.
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5. Si'(ﬁmﬁ)ﬁﬁmﬂﬁﬁwg?

(a) g (b) S94g

(¢) SIHIg (d) ST H
Si (Silicon) 1s a — |

(a) Metal _Ab) Metalloid

(¢) Non-Metal (d) All the above,

6. THOq H ToAE fEaT 27
(a) 100 K (b 30 K
(¢) 90 K - (d) 120 K.

What is the melting point of Methane ?

(a) 100 K (b) 30 K

f) 90K (d) 120 K

7. 3@ T BT ——mmmmmme &% fou stfuead e

(a) HHAA TUO (b) fade YUl
(c) 391 <4 (@ T § B T
The field of view is maximum for .........-- :
(a) Plane mirror (b) Concave mirror

Ac)  Convex mirror (d) None of thes€
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8. WY F AR @ W F-w fewm e

Thdl 272

(a) hiftTan (b) 3fegea

(c) uftafia (d) gaeit

Which part of the eye can be donated after
death ?

(a0 Cornea (b) Retina

(¢) Iris (d) Pupil.

9. T W FE-W TaNA TE 8?2

(a) Cl (b) Br
() Ar @ I

Which is not a Halogen ?

(a) L£l.- . (b) Br

(c) Ar (d) L
0. A H -IAYSEAIF B-

(a) 1.31 (b) 1.33

(¢) 1.23 (d) 1.2.
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Refractive Index of Water js _

(a) 131 _(b)~1.33
© 1.23 ) 12

1. @R H Fhd 67 @ # Ta
(a) @A (b) e
(c) Hiem (d) =TI |

What is the Colour of Danger signal ?
_Ta) Red (b) Blue

(¢) Yellow (d) Green.

12. 73 9 9 foa Siam w1 w@ § sufeafs @
WUl H TYA 22

(a) TFHFT (b) HIfARH
() Herdram d) 39 q wE T

The presence of which of the following bacteria

in Water indicates Water contamination ?

(a) Streptococcus _Ab) Coliform

(¢) Salmonella (d) None of these
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(a)  Ig (b) wm

(c) S (d) =g
On which river Tihri Dam is built ?
(a) Yamuna «tb) Ganga
(¢) Satluyj td} Beas.

14. Fafa § yww &t =@ fea @2

135

(a) 3 x 108 m/sec (b) 3 x 10!8 m/sec
(¢) 3 x 108 km/sec (d) 3 x 10%° m/sec.

Speed of Light in Vacuum is -

(@ 3x 108 m/sec (b) 3 x 1018 m/sec

(¢) 3 x 108 km/sec (d) 3 x 1028 m/sec.

CFC =1 JU M 4diku-
(a)  FAW TAN HEA

fb}aaﬁma%ﬂmw
(¢) o Tl Hifsam

(d) ¥d | FE T
P.T. O.
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_ta) Chloro Fluoro Carbon

(b) Chloro Fluoro Chlorides
(c) Chloro Florido Caesium

(d) - None of the above.

lo. ¥ § fFE a0 & 2 FW § W I W g

S

T™ M ¥y .~ _ _

W B
(a) wifoaw (b) fRaTm
(¢) fcyry (d) dRA|

Which of the following elements has 2 shell
and both are completely filled :

(a) Helium “"(b) Neon

(¢) Calcium (d) Boron.
RRAEIEIE I e T IR S —
(@) geft g (b) 3fewes M

TR g (4) e 0
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The Crystalline lens of people at old ,

becomes milky and cloudy; this conditiop 22

known as:

(a) Hypermetropia _(b)- Myopia

(¢) Cataract (d) Presbyopia.

20. TCHAI H WHE §A R 27
(a) C,Hy, .o (b) C,Hy, o
(¢) C,H,y, (d) C,Ho,,q.
What is the general formula of Alkenes ?

(b) CnH2n—2

(d) CnH2n+1'
T ug-B

oY ITIT gy
SECTION-B

(Short Answer Type Questions)

18 the use of Iodised salt advisable ?
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What are the advantages of Sexual

reproduction over Asexual reproduction ?

3. R F fomfony 2
Why do Stars Twinkle ?

24. TF TRAF IO HY g@ar B 20 em @1 TEHT
FIFY T FA OB 2

The radius of curvature of a spherical mirror is

20 em. What is its Focal length ? = 10 ¢m

L=

25. ToERR fag H@EA 4R 2

Draw the electron dot structures for : p..C+ C

(a) H,S ;1:51*“‘ (b) Propanone. "

26, SfET & aeRtUl @l @’ ®? 5
What were the limitations of Dobereiner’s

classification ?

D-T-11-905—-Series—A 13 P T 4.




With the help of a well labelled diagray,

explain the structure of Human Eye.
agar/Or
(a) @de 4w @ I F B 2V,
What are the uses of Concave mirror ?
(b) miifRivm @t fafs= fafual = 22 24

What are the different methods of

Contraception ?




